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¢« v withared flowere

. ‘Z;P’enotype/s is[z;i:re expected in the progeny?

Lecithin, a small molecular weight organic
compound found in living tissues, is an example
of:

mmwspholipfal (2) Glycerides

3) Cm-bolwdr:if_g‘.s (4) Amino acids

These are regardéﬁfias major causes of biodiversity
loss: A

A. Over exploi'l’a\ion \/
B.  Co-extinction \—
C.  Mutation
A) \/Y

D. Habitat loss and fragmentation
Choose the corrddt option:

E.  Migration “~
(1) A, B, CandD only

. (2) A.Band El6ily

"A, B and Dihly
“(4) A, Cand Drohly
) it ,
Which one of the following is not a criterion for

\‘cjj%ation of fungi?
. Mode of nutrition

(2)" Mode of s ore formation
(3) Fruiting body &
“4) Morphology.ofmycelium s %
L0
A pink ﬂoweredﬂ%napdragon plant was crossed
Snapdragon plant. What type

Red floweréd as well as pink flowered plants
(2) Only pink flowered plants

-(3) Red, Pink as well as white flowered plants

(4) Only red flowered plants
R wJ

H

105_. Which one ofthé’ff’ollowing can be explained on

the basis of Mendé!’s Law of Dominance?

A. Out of onelpair of factors one is dominant
and the othénis recessive. o~

‘B. Alleles do nofishow any expression and both
the charagters appear as such in F,
generation.

C. Factors occur in pairs in normal diploid

plants. o~

The discretg;unit controlling a particular

character is called factor.

E. The expresgié)_n of only one of the parental
characters is'found in a monohybrid cross.

Choose the correctanswer from the options given

below: i

(1) A, C,Dand®only

(2) B,CandDonly

3) A,B,C,DandE

(4) A.BandConly

D.
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Tropical regions show greatest level of species
richness because

A. Tropical latitudes have remained relatively
undisturbed for millions of years, hence
more time was wﬂc for species
diversification. ot

Tropical environments; fte more seasonal.
More solar energy is aygilable in tropics.

Constant environments promote niche

specialization. N
cgn_'%ant and

Tropical environments are
Choose the con‘ect\afs&r fromh the options given

B.
C.
D

E.
predictable.

below: h
(1) A andBonly et
~ (2) A,BandE only o
(3) A,BandD only f_:ﬁ)
\(Aa/f\, C.DandEonly

107

108

109

In the given figure, which component has thin
outer walls and highly thickened inner walls?

(1) D

2
3) B \Jﬂd" C
The cofactor of the enzyme gﬁrboxypeptidase is:
Niacin 2) q‘l{;ivin
(3) Haem (4) Zinc
o

Given below are two statemg_i;ts:
Statement I : Chromosomesjbecome gradually
visible under light microscgipe during leptotene
stage. ;
Statement II : The begining of diplotene stage is
recognized by dissolution*6f synaptonemal
complex. h
In the light of the above statéients, choose the
correct answer from the optibgs given below:
(1) Both Statement I and Statement I1 are false
(2) Statementl is true but S”z}tement 11 is false

(3) Statement I is false but" fatement I1 is true
~QA)/Bo/tl?l;‘tatement I and Statement Il are true
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110 What is the fate of a piece of DNA carrying only
gene of interest which is transferred into an alien

organism?
A.

The piece of DNA would be able to multiply
itselfindcpendenlly in the progeny cells of

the organism.

recipient. "

the host DNA |

o0 @

part of chromosome.

E. Itshows ability to replicate.
Irect answer from the options given

\M and C only

4) AandB only

111 Identify the type of flowers based _én the position
of calyx, corolla and androeciy

Ciloose the co
below:

(1) DandE 0}@*
(3) AandE only

It may get integrated into t

he genome of the
It may Mmultiply and be inherited along with

The alien piece of DNA is not an integral

m with respect to

the ovary from the given figures (a) and (b)

1 (a) Hypogynous; (b) Epigynous

) (a Perigynous; (b) Epigynous .

3) (a) Perigynous; (b) Perigynous
\“4)a) Epigynous; (b) Hypogynous

112 Match List I with List II

List I

"A. Two or more MW L.
alternative
forms of a gene

B. Cross of F; I1.

- progeny with

homozygous
recessive parent

C. Cross of F, I

progeny with
any of the parents

" D. Number of IV.

chromosome
sets in plant

Choose the correct answer from the options given

below:

(1) _A-II, B-1, C-III, D-IV
Mm, B-1V, C-1, D-II

(3) A-1V, B-II, C-II, D-I

(4) AL B-II, C-IIL, D-IV
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List IT
Bac_:k cross

Ploidy
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Test cross
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(1) A-IL, B-I, C-lil, D-IV _
(2) AL, B-IV, C-I,D-l
(3) A-1V, B, C-II, D-1 )
(4) A-1, B-II, C-III, D-IV ey
2 [ Contd...
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Formation of interfascicular cambium from fi
developeg_parenghyma cells is an C.‘(‘{:l{;']())ll: 11(‘,' !ly
(1) Redifferentiation :
edifferentiation
(3) Maturation
@) Differentiation
Which of the following is an e s & F
actinomorphic flower? & bxample of
(1) Cassia (2) Pisum
(3) Sesbania Datura
Hind 11 always cuts DNA molecules at a particular
point called recognition sequence and it consists
of: \
¥ 6 bp @ avp CARTTE,
(3) 10bp (4) 8bp
Which of the following are required for the dark
reaction of photosynthesis?
A. Light B. Chlorophyll
c. CO, D. ATP
_E— NADPH e
Choose the correct answer from the options given
below:
(1) B,CandD only
(2) C.DandE only
D and E only
(4) A,BandC only
Given below are two statements:

Statement I : Bt toxins are insect group specific
and coded by a gene cry 1Ac.

Statement IT : Bt toxin exists as inactive
protoxin in B. thuringiensis. However, after
ingestion by the insect the inactive protoxin gets
converted into active form due to acidic pH of
the insect gut. aanasnnd

In the light of the above statements, choose the
correct answer from the options given below:

tatement I is true but Statement I is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

' \S;/Both Statement I and Statement II are false
S

118 The equation of Verhulst-Pearl logistic growth is

dN K-N
S,
From this equation, K indicates:
(1) Biotic potential -+

arrying capacity
(3) Population density
(4) Intrinsic rate of natural increase

119 The capacity to generate a whole plant from any
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cell of the plant is called:
(1) Micropropagation
(2) Differentiation

(3) _Somatic hybridization

~3y" Totipotency
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120 The type of conservation in which the threatened

121

122

123

124

~(c-lli;'g.uﬁ)somes during
Metaphase

species are taken out from their natural habitat

and placed in special setting where they can be

proteeted and given special care is called;
Biodiversity conservation

(2) Semi-conservative method

(3) Sustainable developmentx

(4) in-situ conservation "3

The lactose present in the growth medium of
bacteria is transported to the cell by the action of:
(1) Acetylase

2¥~ Permease

(3) Polymerase

(4) Beta-galactosidase

Spindle fibers attach to- kinetochores of

(2) Anaphase

(3) Telophase (4) Prophase

Identify the part of the seed from the given figure
which is destined to form root when the seed

germinates.

(1) B
3) D

A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Structural gene, Transposons, Operator gene

'(4) A

(2) Anducer, Repressor, Structural gene
Promotor, Structural gene, Termipator ..

125
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(4) . Repressor, Operator gene, Structural gene

|-
How many molecules of ATP and NADPH are
required for every molecule o fixed in the

Calvin cycle?
(1) 2 molecules of ATP and 2 molecules of

NADPH

(2) 3 molecules of ATP and 3 molecules of

NADPH
3”3 molecules of ATP and Olecules of
NADPH

(4) 2 molecules of ATP and 3 molecules of

NADPH

&
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(f iven be]gw are two statements:
~ Statement I : Parenchyma is living but
collenchyma is dead tissue. =Y~

Statement II : Gymnosperms lack Xy
but presence of xylem v
of angiosperms. A )

In the light of the above Mtatements, choose the
correct answer from the options given below:
(1) Both Statement | and Statement 11 are false
) Statement 1 is true but Statement 1] is fals:e

3) tement I is false but Statement 11 is true

Y” Both Statement I and Statement 11 are true
127 Auxin is used by gardepers to prepare weed-free
lawns. But no damage is caused to grass as auxin

\g%)/promotes abscission of mature leaves only.

‘ lem vessels
essels is the characteristic

does not affect mature monocotyledonous
plants. o -
(3) can help in cell division in grasses, to

produce growth. -
(4) promotes apical dominance. b o vy
128 Ina plant, black seed color (BB/Bb) is dominant
over white seed color (bb). fn order to find out
the genotype of the black seed plant, with which
of the following genotype will you cross it?
“) bb (2) Bb
(3) BB/Bb (4) BB

129 Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:
(1) Feedback inhibition
Competitive inhibition
(3) Enzyme activation
(4) Cofactor inhibition

130 Match List I with List II

List I List IT

A. Clostridium xsd L. Ethanol
butylicum

B. Saccharomyces II.  Streptokinase
cerevisiae T

C. Trichoderma v III.  Butyric acid
polysporum

D. Streptococcus sp. J_ IV. Cyclosporin-A

Choose the correct answer from the options given
below:

(1) A-lI, B-1V, C-111, D-I
2 AL B, C-1Y, D-II
(3) A-1V, B-I, C-II, D-1I
(4) A-III, B-I, C-1I, D-1V

131 List of endangered species was released by-
(1). WWF (2) FOAM
UCN (4) GEAC
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(1) bb (2) Bb
(3) BB/Bb (4) BB
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(1) weS® Head
(2) witeadt deq.
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130 g [ ar gt 11 & e e
T I

. T
A, T . udAw
B. 1 S
At
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g
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A frw o Rrepeal F F w0 SO B GEE
() A, B-1V, C-l111, D-1
(2) A-IIL B-1, C-1V, D-II
(3) A-1V, B-1, C-l1l, D-11 .
(4) A-lL, B-L, C-11, D-1V
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132 Match List I with List 11

List 11 .
Site of formation
of glycolipid
Organization like
the cartwheel
Site for active
ribosomal RNA

List I
A. Nucleolus . 1.

B. Centriole 4T 11.

C. Leucoplasts'.g‘ 1.

" synthesis '

D. Golgiapparatus”) 1V. For stpring nutrients
Choose the correct answer from the options given
below:

(1) A-II, B-111, C-1, D-1V
(@) A-IlL, B-1V, C-11, D-1

(3) _A-I, B-I1, C-1I, D-IV
\,(m/;.m, B-II, C-IV, D-I

133 Match List I with List II
~ ListI List IT
/‘ﬁ- A. Rhizopus I.  Mushroom
1 B. Ustilago | II.  Smut fungus
™-C. Puccinia III. Bread mould
< D. Agaricus IV. - Rust fungus

Choose the correct answer fr

below: )
() A-L B-III, C-II, D-1V
(2) A-, B-II, C-1, D-IV

ii;/a-l\{, B-I[I, C-II, D-I
A-IIL, BIL, C-IV, D1

134 Identify the set of correct statements:

A. The flowers of Vallisneria are colourful and
produce nectar. - X _

B. The flowers of waterlily are not pollinated
by water.

C. In most of water-pollinated species, the
pollen grains are protected from wettings~—T

D. Pollen grains of some hydrophytes are long
and ribbon like.

E.

N

om the options given

In some hydrophytes, the pollen grains are
carried passively inside water. ~_~"
Choose the correct answer from the options given
below:

(1) A,B,CandDonly %
2) _A,C,DandE only

B, C, D and E only

“4) C, D and E only

135 Bulliform cells are responsible for
(1) Protecting the plant from salt stress.
(2) Increased photosynthesis in monocots.

(3) Providing large spaces for storage of sugars.

4> Inward curling of leaves in monocots.
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(4) A-III, B-II, C-IV, D-I
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@y : Section-B (Q. No. 136 1o 150)

136 Match List I with List II

ListI  ¥1 List IT 136 4 1wt gy 11 & fererr Hifoo:
Types of Stamens)  (Example) TR A 1

V‘/ A. Monoadelphous  I.  Citrus (3t % o) (FzrET)
,‘{B_ Diadelphous 1. Pea A. ummddy (edesa) [ faza
,§ c. Polyadelphous L. Lily B. frwdy (srzudens) 1. =zt
/(ﬁp' Epiphyllous IV.  China-rose C. agad (dremdeny) 1. feem

Choose the correct answer from the options given D. afudiifafEa a= V. = TA/EE

below: : ;ﬂaﬁquﬁg“@'maﬁgﬁq:

(1) - A-IV, Bl -1, D-IN (1) A-IV, B-I, C-I1, D-III

(2) A, BT, C-IV, DIl 2) AL, B-II, C-IV, D-II

(3) AL B-L C-IV, DA ‘ (3) AL, B-I, C-IV, D-II

ADBL CF DAL ) (4) A-IV, B-II, C-1, D-IIT

137 I1dentify the step in tricarboxylic acid cycle, which 137 zremiRraR o o % 98 AT 21 gga™ HIg,
does not involve oxidation of substrate. Y Rrad RraTaTAEaEE B SAFIB LT & Bar ¥
(1) Succinic acid > Malic acid ¢ (L, = ’ N T — AR :
(2) Succinyl-CoA — Succinic acid 3 E (1 CoA —> GariTm ot
(3) Isocitrate — o -ketoglutaric acid <~ ‘T\ (2) wRITE- o AP
(4) Malic acid — Oxaloacetic acid _ 8; mﬁ—» L il

The DNA present in chloroplast is: - K
138 \g,)/cbi]rcu‘])ar, double stranded : 138 haea® () ¥ Iqfad DNA/‘é‘itﬁ'l'. %

(2) Linear, single stranded | S g, e

(3) Circular, single stranded - 2) e, THTE

(4) Linear, double stranded _ ‘ E @) 9dm,

: 4) Ya®, fe=sgs
139 Match List I with List IT “)

List I List II ' - :
A. Frederick I.  Genetic code 139 g I %1 g 1 ¥ forer ailiﬁlq@ -
Griffith . , KSR 1 .
B. Francois Jacob II. Semi-conservative A. Fsfre fiftey S L aqrgaf& T
& Jacque "‘g mode of DNA (FAfes
Monod replication B. Yard dee wd . Suag gﬁ@ﬁm'q
C. Har Gobind,g [II. Transformation RN &) ord—ueeh vEl
. | C. wfmarE L W
D. l;de}s:lson & ﬁ‘i IV. Lac operon o, o BRI
ta . . N o
Choose the correct answer from the options given 'Eh]%)‘ ﬁ: ’ITS, wg ? gﬁuﬁT B gﬂ'q'
below; v , -11L, B-1V, C-1, D-
WI, BV, C-I, D-1I (2) A-1I, B-11I, C-1V, D-1
(2) A-II, B-II, C-1V, D-1 - (3 A-IV;B-l, C-I1, D-lII’
(3) A-IV,B-, C-I1, D-II (4) A-II, B-I1, C-1, D-IV

(4) A-II, B-I, C-I, D-IV

140 Which of the following are fused in somatic 148 bk -l . ik

hybridization involving two varieties of plants? ' Fromffre 3 & foprren grere e %

(1) atic embryos ' (1) s yor
y@)/g:z:oplasts 2) NATE

(3) ‘Pollens : (3) UXTTH

(4) Callus ] (4) m
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141  Identify the correct description about the given | 141 R 7u fst & @éy fyereor @y wganfm:
figure:
(1) soof s 3o Yhed @t 2o gq s
(1) Water pollinated flowers showin stamens T g s
with mucilaginous covering, ¢ (2) g™ () B iy gy s
(2) Cleistogamous flowers showing autogamy. CRUSAL) ™ ]
(3) Compact inﬂ%scence showing complete (3) "of @y (SATerT) @ T 3T T
autogamy. L (eTER) guIse
(4) Wind pollinated plant inflorescence showing (4) oG Yoherl i quid §Q arg 9 wrey
flowers with well exposed stamens. BT ISehH
142 Given below are two statements: 142 <R Y waw g o 3
Statement I : In C; plants, some O, binds to . : e : 3
RuBisCO, hence CO32 fixation is decrgased. ~ :;}q;;ﬁ 53;:-%?)’ % WE{RSBIE;?(%)?%E
StatementII : In C, plants, mesophyll cells show AP :
verv li oo > TESoPY F I 2 Cy wrdl &, woinedias S sgq o9
ry little photorespiration while bundle sheath TRt B ¥ ok = .
cells do not show photorespiration. z:::::::: e & He ¥ T B
In the light of the above statements, choose the . ! e
correct answer from the options given below: UG B % STl e e ferchedt & wlt s
(1) Both Statement I and Statement 11 are false @ ghTe: 4 )
(2) Statement I is true but Statement 11 is false (1) &9 I &iik FHa 11 Y araea ¥
(3) Statement I is false but Statement I1 is true (2) Ha719Q ¥ AR B 1 o 31
(4) Both Statement I and Statement II are true () FuTI o\ ¥ wfthst e Il wew &1
(4) =1 R By 1 ) g T
143  Match List I with List II -
List I List IT 143 & I o1 gt 11 & P i
A. Robert May ‘LL’ I.  Species-Area T I T 1
: relationship A. TEEq L' shfo-&=ee dawy
Alexander von II.  Longterm B. uwiwa=tdE II. R Wi $
Humboldt ~¥~ ecosystem T g g dafafy
experiment using aifafies |
out door plots W
C. Paul Ehrlich III.  Global species C. ufa ufie 1. ARas sl Tt
diversity at about T 70 WG
7 million (7 Tt %
D. David Tilipan IV. Rivet popper D. 3= e V. P
% hypothesis afeea
Choose the correct answer from the options given T R o Pt & ¥ W wE E) gfm:
. belgwr (1) A-II, B-1, C-1V, D-II '
A-I1L, B-1; C-1V, D-1I (2) A-1, B-IIL, C-II, D-IV #
(2) A-L B-lI, C-I1, D-IV (3) A-II, B-1V, C-I1, D-1
(3) A-IJ, B-1V, C-II, D-I (4) A-II, B-III, C-1, D-1V
(4) A-IL B, C-1, D-1IV :
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In an ecosystem if the Net Primary p -
A Bl rodie
(NPP) of first trophic level ig y rociictiviig

BT -2 -
100x (kca{ m <) yr ' what would be the Gpp
(Gross Primary Productivity) of the third
trophic level of the same ecosystem?

(1) x (keal 171"2) _vr“‘

(2) 10x (keal m~2) !

3) ](20'\. (keal m_z) yr"'
3x

4) ILO (kecal m_z) yr_I

Which of the: following statement is correct
regardig the process of replication in E.coli?
“The DNA dependent RNA polymerase
catalyses polymerization in one direction,
thatis 5°—>3°.

(2) The DNA dependent DNA polyfn'eras'e

catalyses polymerization in 5° —3” as well -

as 3°— 5’ direction.

3)
(4)

catalyses polymerization in > 3’ direction.
The DNA dependent DNA polymerase
catalyses polymerization in one direction

that is 3° —5°. Y\

List IT
Cytoplasm

Match List I with List I
ListI

Citric acid ‘I],— I.
cycle
Glycolysis 'Y

Electron

transport

system
D. Proton

gradient ﬂ

Mitochondrial
‘matrix
Intermembrane
- space of
mitochondria
Inner
mitochondrial
membrane

1I.

III.

IV.

Wn ect answer from the options given
below:
7 A-ll, B-1, C-1y, D-111 , ,

(2) A-II, B-1V, C-1, D-II
(3) A-1V, B-111, C-I1, D-1
(4) A-L, B-II, C-111, D-1V

Spraying sugarcane crop with which of the
following plant growth regulators, increases the

\L‘e;yl,af stem, thus, increasing the yield?
: Gibberellin (2) Cytokinin
(3) Abscisicacid  (4) Auxin

The DNA dependent DNA polymerase

145

146

147

33

A
B.
C

D.

144 fpedy mftfofs @5 (@) & afe gam i @

1 2 yrerfer S (NPP) 100x (keal m™2 ) wfred
¥ ar sy wmiftferfis d % gdvg drdt & &1 GPP
(e heaftres Seqas) @ B ? :

(1) x (keal m '2) yfererd

(2) 1()_,((/“-(,/,,,—2)!1?&‘{?[!5
(3) l()(;x (keal m™%) gferad
O G
& s & Rt (i) B afan % @t J
Rreffaa o & B @1 BIT FE T 7
) Sy Preft e (RNA) dief e o 2o
D ¥ar 5 >3 ¥ agedEs T H S d B &
(2) ST Preft Sig dieEE 5T —> 37 % WA
3° > 5 g # oy AEEBHTT HN TAT FHH
Bl
(3)' S Py ey didEE 5737 #
BT SATT HALS |
(4) DT (DNA) it S S us faam F
At 3° > 57 ¥ TEABIHT BN TATT BT 5
el 1 o1 g 11 forerr ifore:
Tl Sl
. grgied TA—dsh . iR
AEIERAISINGS . wErsigar A
A et 1L AIgSsit B
o ' (F=TR) FTEHIN
QI Jeerat V. Wia qEsitear
' AU
R fw o Reeedl ¥ ¥ @€ SO B g
(1) A-Il,B-L, C-lV,D-I1 ,~
(2) A-lL, B-1V, C-1, D-11 :
(3) A-1V, B-lIL, C-11, D-1 |
(4) A-L,B-IL, C-IL DIV~
T o e W FrafaRad aew gftg e forgent
fissara & A T A T 96 ) 2 FEEET
Iust ¥ gig AN ¥ ? ‘
(1) fratfes )
(3) uahifts s “)
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Read the following statements and choose the set
of correct statements:
In the members of Phaecophyceae,

A. Asexual reproduction occurs usually by
biflagellate zoospores.

B.  Sexual reproduction is by oogamous method
only.

C. Stored food is in the form of carbohydrates
which is either mannitol or laminarin.

D. The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyll.

E.

Vegetative cells have a cellulosic wall,
usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below:

(1) B,C,D and E only
(2) A,C,DandE only
(3) A,B.CandE only
(4) A,B,CandD only H
Pen -

Match List I with List II QP

List I List IT
A. Rosefy 1. Twisted aestivation
B. Pea¥ II.  Perigynous flower
C. Cottony III. Drupe
D. Mango " IV. Marginal placentation

Choose the correct answer from the options given
below:

(1) A-L B-II, C-lII, D-IV
(2) A-1V, B-111, C-II, D-1

3) , B-11I, C-1V, D-I
A-Il, B-1V, C-I, D-III

Match List I with List II
List I List IT
A. GLUT-4 W I.  Hormone
B. Insulin T II.  Enzyme
C. Trypsin ¥” III. Intercellular
ground substance
D. Collagen W IV. Enables glucose

transport into cells
Choose the correct answer from the options given
below:
(1) A-IL B-II, C-II1, D-1V
(2) A-II, B-1I, C-1V, D-1

(3) AHB-1V, C-1, D-II
A-1Y. B-L, C-I1, D-II
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148 Treferfac e w0y ufgy T aé) =l & G2 B ghm:

ﬂmfmzéﬁsvmﬁﬂ
areifies s wra: freper S (ST T
AraTrupar) & g e § )

B. fir s e Rromgredt (Sairiea) fafy &
B ¥

C. tfud @ saEfeEse & &9 ¥ 2ar & 5 32
araar aiAfeE E1

D. U o a@ gea avie aoieia/aiifeT a, ¢
3 Fafearzs aan Seafea T

E.

Fifss Bifdremrel ¥ Agerar PR 21 3, sy
& 3T uTa: uhter & Refer SmatT ¥ amafg
A B

T faw 1q Ryepedl F ¥ T€ SAX @ gFQ:

(1) =@ B,C,D X E

(2) Fa@ A, C,DIRE

(3) ®aw A, B, C3iRE

4 FawA,B,CaRD

T 1 o1 g 1 & e i

T T I

NGLE| I =Ekia guew o
X II. 9RmEET qu

C. wuE" 1. s wa/ga

D. ‘am IV. dmia SeisaE

e g Ty frepedl F ¥ @@ SO @ gh:

(1) A-L B-II, C-1II, D-1V:

(2) A-1V, B-11I, C-11, D-1

(3) A-IL, B-III, C-1V, D-I"

(4) A-IL B-1V, C-1, D-III

T [ &1 gt 11§ e aﬁﬁw’é»
Tl B SIpH
GLUT-4 L.
Fgfer
[FARSES

B.

FRBITHA
smurdi W
Wb ¥
&% TR @ g
ERIGIE
W faw o Tt F @ w8 IO @ g
(1) A-lL B-II, C-11, D-1V

(2) A-1, B-III, C-1V, D-1

(3) A-II, B-1V, C-|, D-11

4) A-1V, B4, C-II, D-1II

EARSE

[ Contd...


https://t.me/NEET2024ANSWERKEY

